Wad o wle 3

Question 4 of 9

Find the volume of liquid needed to fill a sphere of radius R to height & = %.
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(Use symbolic notation and fractions where needed.)
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Question 3 of 10
The concentration of a drug in the bloodstream ¢ hours after injection into the body is given by the function C.
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When is the concentration of a drug in the bloodstream the greatest? Round your answer to two decimal places.
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Your task is to design a rectangular industrial warehouse consisting of three separate spaces of equal size as in the figure.
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The wall materials cost $500 pe{ linear meter and your company allocates $7,200,000 for that part of the project involving
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